DISTRICTS ALL

VILLAGE OF LOMBARD REQUEST FOR BOARD OF TRUSTEES ACTION

For Inclusion on Board Agenda Bids and Proposals

TO:	President and Village Board of Trustees				
FROM:	Scott R. Niehaus, Village Manager				
DATE:	September 4, 2025	$(\underline{B \text{ of } T})$	Date:	August 27, 2025	
TITLE:	FY 2025 Pavement I	Marking Replace	ement Program		
SUBMITTED BY:	John Beissel, P.E., V	illage Engineer			
RESULTS: Date Bids Were Publicated Number of Bids Total Number of Prop		_	Bidding Closed	d: 3/20/2025 (by DuPage Co.)	
Bid Security Require		X Yes		No	
Performance Bond Re	equired	X Yes		No	
Were Any Bids With	drawn	Yes	X	No	
Explanation:					
Waiver of Bids Reque	The state of the s	X Yes		No	
If yes, explain: See A					
Award Recommende	d to Lowest	X Yes		No	
Responsible Bidder?					
If no, explain:					
EICCAL IMDACT.					
FISCAL IMPACT:	Budget <u>\$26,000.00 / \$</u>	28 000 00			
Amount of Award	The state of the s	556,000.00			
Amount of Award	022,143.03				
Account: 410.710.72	5.75420				
RM PROG 34 Paven		ment Program			
	ECOMMENDATION				
Has Recommended B	idder Worked for Vil	<u>X</u> Yes			
If yes, was quality of		<u>X</u> Yes	The state of the s		
Was item bid in accor	dance with Public Ac	t 85-1295?	<u>X</u> Yes	No	
REVIEW (as needed)					
Village Attorney XX			Date		
Finance Director XX		Date			
Village Manager XX		Date			

NOTE: All materials must be submitted to and approved by the Village Manager's Office by 4:30 pm, Wednesday, prior to the Board Agenda distribution.

Interoffice Memo



To: Scott Niehaus, Village Manager

Through: Carl S. Goldsmith, Director of Public Works

From: John Beissel, P.E., Village Engineer

Date: August 27, 2025

Subject: Pavement Marking Replacement Program

RM PROG 34

2025 Pavement Marking Replacement Program

The purpose of the 2025 Pavement Marking Program is to replace deteriorated and damaged pavement markings. The Village evaluates the markings to determine the areas in need of marking improvements. The Village has determined the 2025 areas should focus on Main Street (LeMoyne Avenue to Grove Street and Hickory Street to Janata Blvd) and Elizabeth Street (Eugenia Street to Maple Street). There are also a number of miscellaneous locations that need stop bars or crosswalks.

DuPage County opened bids for a County-wide project on March 20, 2025, and awarded the 2025 Pavement Marking Maintenance Program to Precision Pavement Markings, Inc. of Pingree Grove, IL on April 8, 2025, by Resolution DT-R-0004-25. Precision included a Joint Purchase Form with their bid package to extend their bid prices to other taxing bodies in DuPage County. Attached is a schedule of pricing for this project.

Fiscal Impact:

Project No.: 2025 Pavement Marking Replacement Program - RM PROG 34

Contract amount: \$22,145.05 Available Budget: \$38,000.00

Funding Source: Capital Improvements G/L 410.710.725.75420

Recommendation:

Precision Pavement Markings, Inc. of Pingree Grove, IL has done satisfactory work for the Village in the past. Staff recommends using DuPage County's bid process to award our 2025 Pavement Marking Replacement Program to Precision Pavement Markings, Inc. in the amount of \$22,145.05.

Please return two (2) executed copies of the contract to PW Engineering for further processing.

RM PROG 34

Lombard Public Works Department 1051 S. Hammerschmidt Avenue Lombard, IL 60148

SCHEDULE OF PRICING

COMPANY NAME:

Precision Pavement Markings, Inc

ADDRESS:

1220 Bell Court

CITY, STATE, ZIP CODE: Pingree Grove, IL 60140

2025 Pavement Marking Replacement Program

per the specifications identified herein

I/We hereby agree to furnish to the Municipalities all necessary materials, equipment, and labor, to complete the 2025 Pavement Marking Replacement Program project within 40 calendar days from the date of the Notice to Proceed in accordance with the provisions, instructions, and specifications of the Village of Lombard for the prices as follows:

DuPage Pavement Marking Pricing 2025 RM PROG 34

		II .	·	ir —
Item	Unit	Unit Price	Qty.	Price
Thermo Pavement Marking - Letters & Symbols	Sq Ft	\$4.50	382.4	\$1,720.80
Thermo Pavement Marking - 4" Line	Foot	\$0.70	2,443	\$1,710.10
Thermo Pavement Marking - 6" Line	Foot	\$0.85	1,861	\$1,581.85
Thermo Pavement Marking - 8" Line	Foot	\$1.35	0	\$0.00
Thermo Pavement Marking - 12" Line	Foot	\$2.00	568	\$1,136.00
Thermo Pavement Marking - 24" Line	Foot	\$4.50	1,130	\$5,085.00
Hot Spray Thermo Pavement Marking - 4" Line	Foot	\$0.25	0	\$0.00
Modified Urethane Pavement Marking - Letters & Symbols	Sq Ft	\$6.00	327.4	\$1,964.40
Modified Urethane Pavement Marking - 4" Line	Foot	\$0.85	2,240	\$1,904.00
Modified Urethane Pavement Marking - 6" Line	Foot	\$1.10	2,099	\$2,308.90
Modified Urethane Pavement Marking - 8" Line	Foot	\$2.25	0	\$0.00
Modified Urethane Pavement Marking - 12" Line	Foot	\$3.50	180	\$630.00
Modified Urethane Pavement Marking - 24" Line	Foot	\$6.00	684	\$4,104.00
Pavement Marking Removal - Grinding	Sq Ft	\$0.55	0	\$0.00
Recessed Reflective Pavement Marker	Each	\$35.00	0	\$0.00
Replacement Reflector	Each	\$10.00	0	\$0.00
Modified Urethane Pavement Marking - Raised Median	Sq Ft	\$3.00	0	\$0.00
				\$22,145.05

DuPage County Division of Transportation Project: 2025 Pavement Marking Maintenance Sec. No: 25-PVMKG-13-GM Date of Letting: March 20, 2025 2:00 P.M.				Engineer's Estimate		Precision Pavement Marking Inc. 1220 Bell Court Pingree Grove, IL 60140		RoadSafe Traffic Systems, Inc. 12225 Disk Drive Romeoville, IL 60446		Superior Road Striping, Inc. 225 Miles Parkway Bartlett, IL 60103		Marking Specialists Corporation P.O. Box 745 Arlington Heights, IL 60006	
ltem No.	Items	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	17400	\$5.12	89,088.00	\$4.50	78,300.00	\$9.00	156,600.00				
2	THERMOPLASTIC PAVEMENT MARKING - LINE 4*	FOOT	37000	\$0.73	27,010.00	\$0.70	25,900.00	\$0.85	31,450.00				
3	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	62000	\$1.04	64,480.00	\$0.85	52,700.00	\$1.50	93,000.00	BID		NO BID	
4	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	FOOT	7100	\$1.40	9,940.00	\$1.35	9,585.00	\$3.20	22,720.00				
5	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	39000	\$2.08	81,120.00	\$2.00	78,000.00	\$4.50	175,500.00				
6	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	6800	\$5.17	35,156.00	\$4.50	30,600.00	\$9.00	61,200.00				
7	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	FOOT	594500	\$0.33	196,185.00	\$0.25	148,625.00	\$0.40	237,800.00				
8	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	560	\$6.24	3,494.40	\$6.00	3,360.00	\$12.00	6,720.00				
9	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	FOOT	8300	\$0.91	7,553.00	\$0.85	7,055.00	\$1.00	8,300.00				
10	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	FOOT	2900	\$1.04	3,016.00	\$1.10	3,190.00	\$1.50	4,350.00				
11	MODIFIED URETHANE PAVEMENT MARKING - LINE 8"	FOOT	190	\$1.53	290.70	\$2.25	427.50	\$4.00	760,00		2		Z
12	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	FOOT	1200	\$2.08	2,496.00	\$3.50	4,200.00	\$6.00	7,200.00				
13	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	FOOT	450	\$6.24	2,808.00	\$6.00	2,700.00	\$12.00	5,400.00				
14	MODIFIED URETHANE PAVEMENT MARKING - RAISED MEDIAN	SQ FT	820	\$3.35	2,747.00	\$3.05	2,501.00	\$12.00	9,840.00				
15	PAVEMENT MARKING REMOVAL - GRINDING	SQ FT	121200	\$0.55	66,660,00	\$0.55	66,660.00	\$1.00	121,200.00				
16	RECESSED REFLECTIVE PAVEMENT MARKER	EACH	500	\$36.40	18,200.00	\$35.00	17,500.00	\$60.00	30,000.00				
17	REPLACEMENT REFLECTOR	EACH	500	\$10.40	5,200.00	\$10.00	5,000.00	\$20,00	10,000.00				
18	TEMPORARY PAVEMENT MARKING REMOVAL	FOOT	500	\$1.14	570.00	\$1.00	500.00	\$1.00	500.00				
Bidder's Proposal for making Entire Improvements			\$616,0	14.10	\$536,803.50		\$982,540.00		\$0	.00		\$0.00	
	Quantities shown above include Base	Bid + Alte	rnates B										
Base Bid only				\$475,125.03			\$416,018.75		\$761,152.95				
	Alternate A: Base Bid + Alternate A			\$55,605.24	\$530,730.27	\$51,519.25	\$467,538.00		\$813,094.35				
Alternate B: Base Bid + Alternates A & B As-Read total (if different from calculated total)				\$32,581.11	\$563,311.38	\$28,499.30	\$496,037.30	\$53,432.90 \$982.3	\$915,795.00			ا ا	

VILLAGE OF LOMBARD

CONTRACT DOCUMENT NUMBER RM PROG 34

This agreement is made this 4th day of September, 2025, between and shall be binding upon the Village of Lombard, an Illinois municipal corporation (hereinafter referred to as the "Village") and Precision Pavement Markings, Inc. (hereinafter referred to as the "Contractor") and their respective successors.

Witnessed, that in consideration of the mutual promises of the parties delineated in the Contract Documents, the Contractor agrees to perform the services and the Village agrees to pay for the following services as set forth in the Contract Documents:

The replacement with thermoplastic or modified urethane pavement markings consisting of various colors, sizes, and shapes. Project quantities are attached for various sections of concrete and asphalt throughout Village limits.

- School crossings/crosswalks;
- Main Street (LeMoyne Avenue Janata Blvd);
- Miscellaneous locations as listed on the Locations Map;
- Park Avenue (Greenfield Avenue to St. Charles Road).
- 1. This Contract shall embrace and include all of the applicable Contract Documents listed below as if attached hereto or repeated herein:
 - a. Contract Document Number RM-PROG-34 for 2025 Pavement Marking Replacement Program, consisting of the following:
 - DuPage County Division of Transportation 2025 Pavement Marking Maintenance 25-PVMKG-13-GM Plans and Specifications Printed 2/13/2025
 - ii) DuPage County Resolution DT-R-0004-25 (April 8, 2025 reference only)
 Awarding to Precision Pavement Markings, Inc. of Pingree Grove, IL
 - iii) Village of Lombard quantities (attached)
 - b. Bid Tabulation of County Awarded Schedule of Prices Dated: March 12, 2025 (attached)
 - c. Required Certificate(s) of Insurance.

RM PROG 34

- 2. The Village agrees to pay, and the Contractor agrees to accept as full payment, the amount as shown on the Contractor's Bid Proposal, which is made a part hereof, subject to such additions and deletions as agreed to by the parties hereto.
- 3. The Contractor shall commence work under this Contract upon written Notice to Proceed from the Village and shall complete work under this contract within 40 calendar days from the date of the Notice to Proceed. Time is of the essence in regard to this Contract, and the Contractor agrees to achieve completion within the time permitted by all proper and appropriate means including working overtime without additional compensation.
- 4. Pursuant to the provisions of Section 5 of the Mechanics' Lien Act of Illinois, prior to making any payment to the Contractor under this Contract, the Village demands that the Contractor furnish a written statement of the names of all parties furnishing labor and/or materials under this Contract and the amounts due or to become due each. This statement must be made under oath or be verified by affidavit. The Village shall not issue final payment nor shall any retained percentage become due until releases and waivers of lien have been supplied as the Village designates.
- 5. This Contract represents the entire agreement between the parties and may not be modified without the written approval of both parties.

IN WITNESS WHEREOF, the Village of Lombard, Illinois, and the Contractor have each hereunto caused this Contract to be executed by their respective duly authorized representatives this 4th day of September, 2025.

If an individual or partnership, the individual or all partners shall sign or, if a corporation, an officer(s) duly authorized shall sign.

Precision Pavement Markings, Inc. Print Company Name					
Individual or Partnership Corporationx	<u> </u>				
Accepted this 27th day of August, 2025.					
15	Vice President				
Ву	Position/Title				
Бу	Position/Title				
THE VILLAGE OF LOMBARD, ILLINOIS					
Accepted this 4th day of September, 2025.					
	Anthony Puccio, Village President				
Attest:	Ranya Elkhatib, Village Clerk				

(SEAL)

APPENDIX C

VILLAGE OF LOMBARD

CONTRACTOR'S CERTIFICATION

Alfredo Salazar Jr.	having been first duly sworn depose and states as follows:
(Officer or Owner of Company)	g B
Precision Pavement Markings, Inc. (Name of Company)	, having submitted a proposal for:
2025 Pavement Marking Replacement Prog Contractor:	gram to the Village of Lombard, hereby certifies that said
1. has a written sexual harassment policy in	place in full compliance with 775 ILCS 5/2-105(A) (4).
2. is not delinquent in the payment of any tais:	ax administered by the Illinois Department of Revenue, or if it
 a. it is contesting its liability for t 	the tax or the amount of tax in accordance with procedures
established by the appropriate:	revenue Act; or it with the Department of Revenue for payment of all taxes
due and is currently in complia	ance with that agreement.
3. is in full compliance with the Federal H Alcohol Use and Testing, 49 CFR Parts 4	
is/are currently participating in a drug and alco	(Name of employee/driver or "all employee drivers") ohol testing program pursuant to the aforementioned rules.
В	By:Authorized Agent of Contractor
Subscribed and sworn to before me this 27th day of August , 2025.	
Motary Public	Notary Public, State of Illinois Official Seal Alma Rosa Benitez Commission # 993129 My Commission Expires 7/3/2028